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B.Com. Sem-IV
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C.E.203 (A) Advanced Acc. & Auditing
(Cost Accounting — II)

Time : 3 Hours]

Instruction : Figures to the right side indicate marks.

Seat No. :

[Max. Marks 70

1. From the following information of M/s. Kaushik Engineers, prepare a statement of cost

for the year ending on 31-3-2013 and find out

(1)  The percentage of works overhead to direct wages

(1)  The percentage of office overhead to works cost and

(111) The percentage of profit on sales.

14

Particulars 1-4-12 31-3-13
- L4
Stock of raw material 1,20,000 1,35,000
Stock of work in process (at factory cost) 45,000 60,000
Stock of finished goods 2,40,000 1,68.000
Other information : 4
Purchases of raw matenial 21,30,000
Direct wages 10,35,000
Factory overheads 3,45,000
Office overheads 3,48,000
Selling overheads 2,40,000
Distribution overheads 60,000
Sales 52,50,000
OR
The following figures relate to a cost of commodity of M/s. S.B. Electricals for the year
ending on 30-6-2012 : 14
4
Raw material purchased 61,500
Direct wages . 19,500
Production expenses 7,800
Administrative expenses 11,700
9 P.T.O.
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Stock ason 1-7-11 :

Raw material 7,500
Finished goods (1,000 Tons) 7,500
Stock as on 30-6-12 :

Raw material 10,500
Finished goods (2,000 Tons) 15,000
Sales (12,000 Tons) 1,23,750

Selling expenses were T (.75 per ton sold.

From the above information prepare cost-sheet. Also find out the selling price per ton if
the output is estimated at 15,600 tons for the year ending on 30-6:2013 and the company

wants to maintain same rate of profit as in the last year. Find out the selling price per ton
considening the following additional information :

(1)  Price of material will go up by 5% and wage rate will.ris¢ by 25% as compared to
last year.

(i1) Production overhead will rise in proportion (o the combined cost of matenal and
wages.

(ii1) Administrative overhead will remain unaffected by increase in output.

(iv) Selling & Distribution expenses per unit will remain affected.

2.  (A) Following is the Financial Profit & Loss Account of M/s. Mahendra & Co. for the

year ending on 31-3-12 : 6
Financial Profit & Loss Account
Particulars (4 F Particulars -4
Raw nuteri:l- | 25,000 | Sales 62,000
Carriage inwards 500 | Share Transfer fee 100
Direct wages 17,000
Waorks expenses 6,000
Administrative exp. 2,250
Selling & Dist. exp. 3,250
Debenture interest 500
Net profit 7,600
62,100 ] 62,100
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Net profit as per Costing P & L Alc is T 8,135. Upon comparison of two sets of

Accounts the following information is found :
%
6

In cost accounts, the overheads charged are as
Works overhead T 5,750
- Office overhead T 2,295
—  Selling & Distribution overheads 2 3,320.
You are required to preparce Reconciliation Statement for both Accounts.

OR

(A) From the following Profit & Loss Account, draw up a Reconciliation S
reconciling the profit as shown by two scts of Accounts. The profit

Costing records T 49,100.
Profit & Loss Account for the year ending on 31-3-13

L Particulars 4 Particulars 4
Office salary 1,36,625
Office expenses 1,000
Salesman’s salary 375
Sales expenses
Distribution expenses
Loss on sale of Mnchi’

Fine

| Discount on D

Net profit =
| 1,38,000

y the Profit & Loss A/c of a company is ¥ 38,000. Find out
Costing Profit & Loss Account after considering the following

4
T
Share transfer fee 500
(i) Debentures interest 2,500
(iii) Over-recovery of Administrative Overheads 325
(iv) Under-recovery of Factory Overheads 1,250
OR
11 P.T.O.
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(B) Financial Accounts of Kalhar Ltd. were Shown the following information :

(C)

(C)

3. (A)

TB-136

Office overheads
Selling overheads
Net profit

It is found that the office overheads shown in the Financial Accounts are. 5% more
In comparison to Cost Accounts while selling expenses are 5% less. Find out profit

as per Cost Records.

Reasons for disagreement of profits as shown by Cost Accounts & that shown by

Financial Accounts.

T
78,750
38,000
47,650

OR

Explain : Over recovery and under recovery of overheads in Cost Accounts.

Parin Transport is allotted a route of 60 kin. (one way) for running passenger bus.
He is having four identical buses. Each bus.is costing ¥ 6,00,000 having estimated
life of 10 years. Its scrap value is gStimated to realise 2 50,000.

From the following particulars caleulate cost per passenger kilometre and the bus
fare to be charged to each passengerfor each way of journey, assuming 50% profit

on fare :

[nsurance premium

Annual tax of each bus

Monthly garage rent (total)
Repairs of each bus — monthly

Driver’s salary of each bus — monthly

Conductor’s salary of each bus — monthly

Diesel expenses — per 100 km

Administrative expenses — monthly (Total)
Each bus will make two round trips in a day carrying 50 passengers on average, for

25 days in a month.

OR
12

2%

12,000

6,000
6,000
1,500
4,000

600
8,000

4

6



(A) Ronak Singh is the owner of a truck having a capacity of 5 tons. From the

following particulars find out operating cost per Ton-kilometre. 6

Cost of Truck % 5,00,000

Estimated life 10 years

Scrap value 10%
Diesel, Oil, etc. Per trip < 120 (each way)

L4

Repairs & maintenance Monthly 2,500
Drniver’s salary Monthly 6,000
Cleaner's salary Monthly 4,000
Insurance Annual 1%
Tax Monthly 600
General Expenses Annual 12,000

The truck carries goods to and from the cities coverin
for 25 days in a month. On outward journey the
on inward journey it is 50% of its capacity. T

of its capacity and
ing for one round trip per

(B) Find out passenger kilometre rent for th sport Co. 4

Total ex ‘ 750 & T 0.05 profit is expected per passenger kilometre.

OR
(B) Finc etre from the following information of Prakash Transport. 4
etres in a month 2,200
40
ad carried in total 320 Tons
plain the meaning of operating costing and narrate its characteristics. 4
OR
(C) Show unit of cost in the following service company : 4
(1) Passenger transport
(2) Hospital
(3) Hotel
(4) Theatre |
13 P.T.O.
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4. (A)

(A)
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Manmoji Contractor has a
hme to time of the work certifi

2010
L4

Matenal 1,.80,000
Wages 1,70,000
Direct expenses 7.000
Indirect expensces 3,000
Work-certified 3,50,000
Work-uncertified

Plant supphed 20,000

The value of plant at the end of each year was '

respectively.

contract for ¥ 15,00,000 and receives 90% cash from
ed. Following are the detatls ol the contract

2011

v
2,20,000

2.30,000
25,000
4,000
11,30,000
20,000

6

2012
L4

1.26,000
1.70,000
0,000

15.00,000

16,000, T 16,000 and T 4,000

Prepare Contract A/c for cach year from the above information,

OR

Saral Ltd has taken up
balances in books of the company on 31-3-12

~ Stock of material

Plant (After depreciation)
Outstanding salary

Contractee’s account

Uncertified work
Work-in-process (Reserved profit)

Following information relates to the year 2012-13 :

Matenals sent

Salary paid

Other Direct expenses

Indirect expenses

Special Plant sent (1-10-12)

Goods returned to stores

Material stolen from site

Special Plant destroyed (31-3-13)
Balances as on 31-3-13 :

Stock of matenal

Outstanding salary

Work-uncertified

Cash received .
Company received
rate of 10% as per

a contract for ¥ 7.00,000.0n T-4=l1. Following are the

T
7,000
15,000
4,000
1,20,000
18,000
10,000

90,000
34,000
4,000
4,000
10,000
1,000
900
9,500

3,000
2,000
25,000
2,00,000

O

80% cash on work-certified. Depreciation is calculated at the
reducing balance method. Prepare Contract Account assuming

2/3 profit on cash basis is to be taken (o Profit & Loss Account.

.14



(B)

Following information is received from X Company Ltd. for job no. 169. 4
Material : T 4000
Wages

Department — I : 100 Hours at ¥ 2.00 per hour.
Department — I1 : 80 Hours at ¥ 3.00 per hour.

Variable Overheads :

Department — I : ¥ 6,000 for 4000 direct labour hours.
Department — I1 : ¥ 8,000 for 6,000 direct labour hours.
Fixed overheads : - |

2 10,000 for 10,000 hours.

Calculate cost of Job No. 169 & rate of profit if the selling/price is quoted at
< 7,500.

OR
(B) The following figures relate to three jobs of a manufacturing urut ; 4
Particulars Job-1 Job-2 Job-3
L4 T L
Direct matenal 2,100 2,800 3,500
Direct labour 1400 © 2000 2,450
Direct expenses 210 280 350
Works overhead is recoverediat 50% on prime cosl and Office Overhead 1s
recovered at 10% on works, cost. Findout the total cost of each job.
(C) Narrate characteristics of Job costing. 4
OR
(C) Explain: Work-uncertified 4
5. Write correct answer for the following sub-questions : 14
(1) Opefating Costing is not applicable to
(a) Gujarat State Transport Co. (b) Hotel Marriot
(c) Vadilal Sarabhai Hospital (d) Oil & Natural Gas Co.
(2), Whichof the following is not fixed expenses for Operating Costing ?
(a) Salary of the conductor (b) Petrol
(c) Municipal tax (d) Office Rent
(3) Which of the following is not vanable expenses for Operating Costing ?
(a) Depreciation (b) Diesel
(c) Repairs & maintenance (d) Insurance Premium
15 P.T.O.
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(4) Whether the following statement 1s true 7 Yes/No.

Consumption of material 1s mainly nol considered
under Operating Costing.
(5) Which method of costing is used in Gold Jewellery industry ”
(b) Process costing

(d) Job costing

in determining the cos!

(a) Operating costing
(c) Unit costing
(6) The time period of each job is
(a) Annual
(c) Half yearly (d)
(7) Whether the following statement is true ? Yes/No
_ Escalation Clause in the contract protects the interest of the Contractee:

(8) Whether the following statement is true ? Yes/No
While preparing Contract A/c, the cost of the speeial p
Contract A/c.

(9) In Cost Sheet, legal expenses is shown as
(b) Administrative overhead

(d) . Distribution overhead

(b) Monthly
Different

lant 1s shown in the

(a) Factory overhead
(c) Direct expenses

(10) In Cost-Sheet, Donation 1s shown as
(a) Factory overhead (b)
(¢c) Distribution overhead (d) None of the above

(11) chtqnf a special ‘plant is added to which expenses while preparing stalement of
cost :
(a) Direct expenses

(c) Factory expenses
(12) Whichatem is not tonsidered in Financial Accounts ?

Administrative Overhead

(b) Direct matenal
(d) Other Direct expenses

(a) | Notional salary of the owner (b) Interest
(c), Material (d) Donation
(13) Whighitem is not considered in Cost Accounts ?
(a) Material (b) Wages
(c)* Interest (d) Indirect expenses

(14) Whether the following statement is true ? Yes/No
Due to under-recovery of overheads in Cost Accounts, the profit shown by

Cost Accounts is higher.
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